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Question 1 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Round 372 851 to the nearest hundred.

A. 372800
372 850
¥ C. 372900
D. 373000
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,353
Question 2 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

What is the value of 24+16+(5-1)x2?

A. 5
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B. 20
C. 26
v ' D. 32

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Oct 2021

Last Modified: N/A
QID#: 29,305,359

Question 3 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Which of the following are common factors of 24 and 30?

v A 2and3
B. 3and5
C. 4and5
D. 4and6
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,363
Question 4 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

)
Find the valuea of 3 x 20 .

A.
1
24
B.
3
50
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v C.
16—
3
D. 24

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,368

Question 5 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
Which of the following is common multiple of 4 and 9?
A. 16
18
C. 32
v D. 36
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,373
Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Question 6

Simplify the following algebraic expression

12p + 7 -5p-3
A. 17p+10
17p+4
C. 7p+10
v D. 7p+4
Question Type: Multiple Choice

Randomize Answers: No
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Date Added: Tue 12th Oct 2021
Last Modified: N/A

QID#: 29,305,380

Question 7 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

In the figure below, not drawn to scale, BCD is a straight line and
AD = CD, What is the area of tfiangle ABC?

B c D
i ...I
" "
12cm
v A. 17.5cm2
B. 30cm2
C. 32.5cm2
D. 78cm2
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,387
Question 8 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
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5
Betty had some fruie. 5 of the frultz were apples and the rest wene
3
aranges. Y of the apples were green apples and the rest wera red
apples. What fraction of the frults were red apples?
A.
2
15
B.
3
i8
C.
14
45
¥ D
7
18
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,399
Question 9 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

https://www.classmarker.com/a//tests/test/?test_id=1832489 5/41


https://0cm.classmarker.com/10070943_4AFXN36W.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305399
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305399&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1832489
https://0cm.classmarker.com/10070943_Q6OHK682.png

11/1/21, 10:21 AM ClassMarker - Manage Test

In the sguare grid below, a school is located at south-west of polnt T,
At which poink ks tha school located?

R A il t

A. P
Q
v C. R
D. S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,450
Question 10 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Which one of the following is not a symmetric figure?

v A

https://www.classmarker.com/a//tests/test/?test_id=1832489 6/41


https://0cm.classmarker.com/10070943_Q6OHK682.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305450
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305450&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1832489

11/1/21, 10:21 AM ClassMarker - Manage Test

C.
D.
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,470
Question 11 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
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A class of students was asked to ssll concert tickets.
The table balow shows the numbe- of tickels sold by the students in

tha class.
Number of tickets sold by each
Number of students o by
9 0
11 2
7 3
2 5

A. 32
B. 24
v C. 8

Question Type:

Date Added:
Last Modified:
QID#:

Randomize Answers:

Question 12

Multiple Choice
No

Tue 12th Oct 2021
N/A

29,305,482

https://www.classmarker.com/a//tests/test/?test_id=1832489

The students sold a total of 56 tickats. How many students sold only 3
tickets each?

Primary 6 Math » Primary 6 Math (Term 2)

Which of the following lines is the line of symmetry of the frapezium?

1 pt
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A. AB
v B. CD
C. EF
D. GH

Question Type:

Randomize Answers:

Multiple Choice
No

ClassMarker - Manage Test

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,493

Question 13 Primary 6 Math » Primary 6 Math (Term 2)

The line graph bedow shows the number of cars sold from March to July.

&0 |
50
F ) /%L
n— |
® _5_!’_7-/'
=
£
x
10
a
March Aprll Py Junig Juy

Maonth

What percentage of the total number of cams sold from March to July
was soid in the month of Aprl?

v A, 15%
B. 30%
C. 85%
D. 200%

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 12th Oct 2021
Last Modified: N/A
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Question 14 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

120kg of chicken wings were packed into 40 packets equally. What was the mass of each packet of
chicken wings?

A. 30g
B. 300¢g
C. 3g
v D. 3000g
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,520
Question 15 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
Box A contains only 20 cent coins and Box B contains only 50 cent coins. The number fo coins in Box
A is twice the the number of coins in Box B. The amount of money in Box B is $1.60 more than the
amount of money in Box A. How many 20 cent coins are there in Box A?
A. 8
B. 16
¥ C. 32
D. 48
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,539
Question 16 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
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v 131/2

Question Type:
Date Added:
Last Modified:
QID#:

Find the value of 12 +
simplast form.

Question 17

The table below shows the number of laptops oaned by per
household in a housing estate.

ClassMarker - Manage Test
-

B.mewarmmannmhmanhﬂs

Accepted answers:

Free Text

Tue 12th Oct 2021
N/A

29,305,545

Primary 6 Math » Primary 6 Math (Term 2)

Number of laptops owned by per 0 1 2 | 3 and more
household
Numbar of housaholds 8 53 62 16

v 78

Question Type:
Date Added:
Last Modified:
QID#:

v 49

49min

How many households owned at least 2 laptops?

Question 18

Accepted answers:

Free Text

Tue 12th Oct 2021
N/A

29,305,547

Primary 6 Math » Primary 6 Math (Term 2)

Anita started her jog at 17 37. She finished jogging at 18 26. How long did Anita jog?

Accepted answers:
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1 pt
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v
v 49 min
Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,552
Question 19 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
L 4
§ children shared Et‘ of lamonade equally. How much lemonade did
aach child get?
Accepted answers:
v 175

Question Type: Free Text

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,555

Question 20 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Match the options below in ascending order :

Clue Match
smallest
F ]
small
1
E |
great
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Lad | b3

Question Type:

Grade style:
Shuffle Mode:
Date Added:
Last Modified:
QID#:

ClassMarker - Manage Test

greatest

Matching

Full points if all answers are correct
Shuffle Matches Only

Tue 12th Oct 2021

N/A

29,305,567

Question 21

AB and CD are straight lines. Find 2#COE.

Accepted answers:

v 18

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Tue 12th Oct 2021
N/A

29,305,573

Correctly answered feedback
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108-90=18

Incorrectly answered feedback

108-90=18

Question 22 Primary 6 Math » Primary 6 Math (Term 2) 0 pts

Using the line AB provided below, construct £ZABC = 110°.

=

Question Type: Essay

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,579

Correctly answered feedback

Incorrectly answered feedback
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Question 23 Primary 6 Math » Primary 6 Math (Term 2)

Thera are 6 shaded squares in the figure. Shade 2 mora squares 1o form a
symmelric figure with AB as the line of symmatry,

Question Type: Essay

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,583

Correctly answered feedback
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Question 24 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

The edge of a cube is 6 cm. What is the volume of the cube?

| RSP

Accepted answers:
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¥ 216cm3

v 216 cm3

v 216

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: Tue 12th Oct 2021
QID#: 29,305,589

Correctly answered feedback

6x6x6=216

Incorrectly answered feedback

6x6x6=216
Question 25 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
14a + 11
What is the value of 3 whean a = 87
Accepted answers:
v 41
Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,594

Correctly answered feedback

14a+11 112+11
. = =41
3 3

Incorrectly answered feedback
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14a+11_112+11_
Y5 T 8

41

Question 26 Primary 6 Math » Primary 6 Math (Term 2) 0 pts

The figure below shows Cuboid A. Draw a cuboid with a volume half
that of Cuboid A on the isometric grids provided.

3 em
2em 2¢cm
Cubodd A
Ll Ll - L] Ll ¥ I
L] Ll [} .

Question Type: Essay
Date Added: Tue 12th Oct 2021
Last Modified: N/A
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Correctly answered feedback
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Question 27 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

https://www.classmarker.com/a//tests/test/?test_id=1832489 19/41


https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305599
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305599&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1832489

11/1/21, 10:21 AM ClassMarker - Manage Test

There were 120 red, blue and yellow baads in-a box. The number of red
1
beads is E the number of blue baads. Thare weara 30 marae yallow beads

than red beads. What is the ratio of the number of red baads to the
number of blua beads io the number of yellow beads inthe box?

Accepted answers:

v 1:4:3

Question Type: Free Text

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,601
Question 28 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

In the figure below, not drawn fo scale, consists of a tiangle CDE and a
square DEFG, Flind the area of unshaded triangle A.

40 cm

N

Accepted answers:

¥ 100cm2
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v 100 cm2

¥ 100

Question Type:
Date Added:
Last Modified:

QID#:

Question 29

ClassMarker - Manage Test

Tue 12th Oct 2021

29,305,611

Correctly answered feedback

DEFG is a square Label triangles B and H
Area of triangle A= Total Area of B+H
Total base of triangle A+B+H=20cm
Base of triangle A = 20cm +2=10cm
Height of triangle A=40cm-Z0cm=20cm

Total area of triangle=2x(; x 20cmx10cm)

=2x100=200 cm2
Area of triangle A= 200 em2 + 2 =100ecm2

Incorrectly answered feedback

DEFG is a square Label triangles B and H
Area of triangle A= Total Area of B+H
Total base of triangle A+B+H=20cm
Base of triangle A = 20cm +2=10cm
Height of triangle A=40cm-20cm=20cm

Total area of triangle=2x(; x 20cmx10cm)

=2x100=200 cm2
Area of triangle A= 200 em2 + 2 =100cm2

Primary 6 Math » Primary 6 Math (Term 2)

Fatimah, Gretel and Helen shared $n. Fatimah received thrice as much money as Helen. Gretel
received $15 less than Fatimah.

Statement: Gretel received more money than Helen

A

B.

. True

False

https://www.classmarker.com/a//tests/test/?test_id=1832489
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¥ C. Not possible to tell

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,619

Question 30 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
n+1b6

Helen received ${ -

v A, True

B. False

C. Not possible to tell

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,622

Question 31 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

The list below shows the items Mrs Lim bought. The average cost of
the itams was $25, What was the cost for ltem A?

Item Cost
A $17
B $34
C s |8
D $22
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Accepted answers:
v $16

v $16

v 16

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,625

Question 32

volume of the cuboid.

ClassMarker - Manage Test

Primary 6 Math » Primary 6 Math (Term 2)

The figure below shows a 24 cm by 14 cm by 8 cm cuboid. Find the

24 cm

Accepted answers:
v 2688cm3
v’ 2688 cm3

v 2688

Question Type: Free Text

Last Modified: N/A
QID#: 29,305,653

Correctly answered feedback

24x14x8=2688

24x14x8=2688

Date Added: Tue 12th Oct 2021

Incorrectly answered feedback

Bcom

14 cm

https://www.classmarker.com/a//tests/test/?test_id=1832489
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Question 33 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Gabby and Helens shared a sum of money in the ratio of 3:2. When Gabby gave $20 to Helen, the ratio
of Gabby's amount of money to Helen's amount of money became 4:11. How much money did Gabby

have at first?
Accepted answers:
v $36

v $36

v 36

Question Type: Free Text

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,656

Question 34 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Mr Lal and his 3 children wenl I & Maze Park. They stayed there from
15 00 to 17 10. The table below shows the charges. How much did

Mr Lai pay for the children?
] I
o | Every add]ﬂnnal% hour
Adult $12.50 per hour | &7
Child $7.50 per hour $4

Accepted answers:
v’ $58.50
v’ $58.50

v 58.50

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,658
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Question 35 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Jennis received $8 for her pocket money from her parents daily. The
following bar graph shows her spending on a certain waek.

0 1 2 3 4 5 B 7 B
Amount of monay ()

What was Jennis’ average savings over tha 5 days? .

Accepted answers:
v $3
V' $3
v 3

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A

QID#: 29,305,663

Question 36 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

https://www.classmarker.com/a//tests/test/?test_id=1832489 25/41


https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305658
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305658&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1832489
https://0cm.classmarker.com/10070943_1EX4VGUP.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305663
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832489&question_id=29305663&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1832489

11/1/21, 10:21 AM ClassMarker - Manage Test

The foliowing bar graph shows the number of bocks read by 5 boys over a
week.

Al Ben Danny

What is the average number of books read by tha bays?

Accepted answers:

v 11

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,669

Correctly answered feedback

16+9+18+0+12=55
55+5=11

Incorrectly answered feedback

16+9+18+0+12=55
55+5=11

Question 37 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Katinah paid $36 for 30 cupcakes after a 20% discount. How many cupcakes could she have bought
with the same amount of money without the discount?

Accepted answers:
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v 24

QID#:

(a)
(b}

ClassMarker - Manage Test

v 24 cupcakes

v 24Cupcakes

Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A

29,305,674

Question 38

Measure and write down the size of < ABC.

Primary 6 Math » Primary 6 Math (Term 2)

In the square grid, AB and BC are drawn. They form 2 sides of a
trapezium ABCD.

Complete the drawing of the trapezium ABCD such that AB is

paraliel to CD and line CD is twice as long as line AB.

[2]

;

N\

o

QID#:

Question Type: Essay
Date Added: Tue 12th Oct 2021
Last Modified: N/A

29,305,678

Correctly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1832489
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a)62°

Incorrectly answered feedback

s

a)62°

Question 39 Primary 6 Math » Primary 6 Math (Term 2) 1pt
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The figure below, not drawn o scale, is made up of a parallelogram
ABCD and a rhombus BCEF. Given that £BFE = 1107, find £BAD.
F
10
A __E B
D C
Accepted answers:
v 145
Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,682
Correctly answered feedback
180-110=70
70+2=35
180-35=145
Incorrectly answered feedback
180-110=70
70+2=35
180-35=145
Question 40 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
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The diagram below, not drawn fo scale, shows a rectangle. Whan is
length ks increasad by 50% and its breadih Is increased by 20%, what is
the percentage increase in its area?

16 cm

.
L

38 cm

Accepted answers:
v 80%
v 80 %

v 80

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A

QID#: 29,305,695

Correctly answered feedback

38x150%=57

16x120%=19.2

original area - 38x16=608

new area - 57x19.3=1094.4

1094.4/608 x100 = 180%

percentage increase in area = 180% - 100% = 80%

Incorrectly answered feedback

38x150%=57

16x120%=19.2

original area - 38x16=608

new area - 57x19.3=1094.4

1094.4/608 x100 = 180%

percentage increase in area = 180% - 100% = 80%

Question 41 Primary 6 Math » Primary 6 Math (Term 2)
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The figure below is made up of 2 square, ABCD and EFGH, and
2 identical semicircles. E, F, G and H are the mid-points of AB, BC, CD
and AD respectively. Find the total area of the shaded parts.

(Taken=7) A

Accepted answers:
v 952cm2
v’ 952 cm2

v 952

Question Type: Free Text

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,699

Question 42 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

In a box, the ratio of the number of blue beads to the number of red beads was 5:14. The ratio of the
number of yellow beads to the number of red beads 2:7.

a) Find the ratio of the number of blue beads to the number of yellow beads to the number of red
beads
Accepted answers:

v 54:14

Question Type: Free Text
Date Added: Tue 12th Oct 2021

Last Modified: N/A
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QID#: 29,305,718

Correctly answered feedback
B:R=5:14

Y:R=27

B:Y:R = 5:4:14

Incorrectly answered feedback
B:R=5:14

Y:R=27

B:Y:R =5:4:14

Question 43

How many more red beads than blue beads were there in the box in the end?

Accepted answers:
¥ 1440beads
¥’ 1440 beads

v 1440

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,767

Correctly answered feedback

5u+4u+14u=23u4u+14u=18u
1/10 of the remaining beads
5u-2u=3u

3u=360

1u= 360+3=120

2u= 120x2=240
14u=120x14=1680
1680-240=1440

Incorrectly answered feedback

5u+4u+14u=23udu+14u=18u
1/10 of the remaining beads
5u-2u=3u

3u=360

1u=360+3=120

2u= 120x2=240
14u=120x14=1680
1680-240=1440

https://www.classmarker.com/a//tests/test/?test_id=1832489

Primary 6 Math » Primary 6 Math (Term 2)

b) After 360 blue beads were removed from the box, 1/10 of the remaining beads were blue beads.

1 pt
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Question 44 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Mrs Ang gave a bag of marbles to her children, if she gave them 9 more marbles to share among
themselves, they would have an average number of 18 marbles. If she gave them 25 more marbles to
share among themselves, they would have an average number of 22 marbles. How many children did
Mrs Ang have?

Accepted answers:

Vg

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,787

Correctly answered feedback

9+y=18x
18x=y
25+y=22x
25+18x-9=22x
25-9=22x-18x
16=22x-18x
16=4x
x=16+4=4

Incorrectly answered feedback

9+y=18x
18x=y
25+y=22x
25+18x-9=22x
25-9=22x-18x
16=22x-18x
16=4x
x=16+4=4

Question 45 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Mr Liang paid $1788.60 for some boxes of face masks and boxes of alcohol swab. He paid $1603.80
more for the face masks than the alcohol swab. The number of boxes of face masks he bought was
three times as many as the number of boxes of alcohol swab. A box of alcohol swab cost $21.50 less
than a box of face masks. Find the cost of a box of face masks.

Accepted answers:
v $25.70
v $25.70

v 2570
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Question Type: Free Text

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,306,136
Question 46

Primary 6 Math » Primary 6 Math (Term 2) 1 pt

: 3

Yasmin had 210 kg of grapes. She =old 3 of the grapes on Monday and
3

Eﬂi’ tha ramainder on Tuesday. She packed the remaining grapes into

3
small bags containing 3 kg of grapes. How many small bags of grapes
did Yasmin pack?

Accepted answers:

¥ 100

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: Tue 12th Oct 2021
QID#: 29,306,194

Correctly answered feedback

4 3
70

3 3 5
—— e e

7 14 14
11nkgxi?;=r5kg

75kg+3%kg=100 small bags

Incorrectly answered feedback
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zmkgx%:?akg
75kg+3%kg=100 small bags

Question 47 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
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https://www.classmarker.com/a//tests/test/?test_id=1832489

Primary 6 Math » Primary 6 Math (Term 2)

The diagram balow shows 4 figures formed by shaded and unshaded
hexagons.
Figura 1 Figure 2 Figura 3
(a) Complete the table below.
Figura Total number of Total number of
Mumbar hexagons shaded hexagons
1 1 1
2 4 3
3 9 &
4 16 10
7
| | S — (i}
1
ai)
Accepted answers:
v 49
Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,259
Question 48

1 pt
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aii)

Accepted answers:

v 28

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,263

Question 49 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
b) Find the number of unshaded hexagons in figure 15
Accepted answers:
v 105
Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,266
Primary 6 Math » Primary 6 Math (Term 2) 1 pt

Question 50

c) The total number of hexagons of a figure is 529. What is the difference between the number fo
shaded hexagons and the number of unshaded hexagons of that figure?

Accepted answers:

v 25

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,305

Question 51 Primary 6 Math » Primary 6 Math (Term 2) 1 pt
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The figura balow is made up of two identical semicircles, & identical
quadrants and 16 squares. The side of each square is 8 cm.
{a)  Find the perimeter of the shaded figure.

(Take = = 3.14)
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Accepted answers:

v' 106.2cm
¥ 106.2 cm
v 106.2
Question Type: Free Text
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,319

Correctly answered feedback

I6x2=12cm
¥x3.14x12=9.42cm
9.42cmx10=94.2cm
94.2cm+12cm=106.2cm

https://www.classmarker.com/a//tests/test/?test_id=1832489
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Incorrectly answered feedback

I6x2=12cm
14%3.14%x12=9.42cm
9.42cmx10=594.2cm
94.2cm+12cm=106.2cm

Question 52

b) Find the area of the shaded figure

Accepted answers:
v’ 272.52cm2
v 272.52 cm2

v 27252

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,326

Correctly answered feedback

1Mx3.14x6x6=28.26
6x6=36
36-28.26=7.74
7.74x4=30.96
28.26x6=169.56
36%2=T72
30.96+169.56+72
=272.52cm’

Incorrectly answered feedback
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Primary 6 Math » Primary 6 Math (Term 2)
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1%x%3.14x6%x6=28.26
6x6=36
36-28.26=7.74
7.74x4=30.96
28.26x6=169.56
36%2=72
30.96+169.56+72
=272.52cm’

Question 53 Primary 6 Math » Primary 6 Math (Term 2) 1 pt

The figure below, not drawn to scale, is made up of 2 trapeziums ABCD
and ADCE. AB s paraliel to DC and AD is parallel to EC. £BCD = B6°,
£CEF = 52° and EF = CE.

(a) Find £BAF.

Accepted answers:

v 22

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,430
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Correctly answered feedback

180-86=94
180-52=138
128+2=64
180-94-64=22

Incorrectly answered feedback

180-86=94
180-52=138
128+2=64
180-94-64=22
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b) Find ADC

Accepted answers:

v 30

Question Type: Free Text

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,306,433

Correctly answered feedback

86+64=150
180-150=30

Incorrectly answered feedback

86+64=150
180-150=30
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